Mm2y3 8/}0
. Fot = <~q,o"c7 Fé-:<'“l\'/ o
N ~ ~
M h= fax PL
" P(‘\;D,O)
gll.S’/ planes

G,l:rbn £ plane T and a ;m'l’ £ wt wm P ‘p\GMLJ, whhat

3 He Johue D Pew T AP

[ > La
//—-——f -~ 3 .
L) P “{w).-\ f\%” = ” :___..., _F_ < [;‘)'m’
|| i

TR

AP n= Caly ) (Xi~Xo, Yy =hu B- &Y

« alX=-%)+ Liny-w) + c (- b)

< aXitby, For m (axed by i)

S _RX +L\,,! *(h""‘ —

(A= { 41 So, | D= —




= T [ox +dp —2z=¢ Paaly]

=1

Ta: Sk v -z = |

M: (0,':") m Tl /— /

[l
N
~
S
1]
t
A

P‘auu: Ty: a=1% =2 c-=-

b= | (ol +2l) +-5| - 3 =3 _ 3
| + +kfl \.”78— \FIFZ- @ Jo

\}"0\}7

—_—

$Q.0 Ruadde Suvfaus

ﬁX‘Hﬂﬂ 'FCZ",F& = _nuu

Gtmna| Em“'ﬁ: Ax* +Bx +Cy* £ Oy + E€ ¢ F2 + G=0

oF st o of ARCE e ponin,

We  can Cam'pwb SoML quwlrbs “\ éd" 'FWVW{M llL&f

(ko) # (y-b)" ¢ (2-O = d




2

Ex. K'Lf\f'i-% =9 a%
3

Shwrt w/ ML:ASB //L\
——

G =

S

/o

e

X
B (0 QP g - r
x=0: ()42 =] =hfso < Nl
y=0p: (’)Bs)zk%"? ~
I“ X\ /4 7’:—- / b3
Bl
EX. Z=X 1ty z A
el
X=p: ‘t”lzz' r\’ ./{’
g=d;  T=X W1
101 D= X*4Y* \>L/
<10 <[ = viarg? K i
¢=1 [ = x*424? X ‘-/ Ell;l’k( ()ﬂw\u‘o;«!

il




)

DA ./

'\(\ ‘/\\r D

| ) [
| ]

ic f’mlml_o\“oQ_ o g.J;”,c Swénu,




